Test: 2017 Primary 1 - Term 1 (CA1) Math (Henry Park)
Points: 20 points

Name: Score:

Date:

Signature:

Select multiple choice answers with a cross or tick:
Only select one answer

Can select multiple answers

Question 1 of 18 Primary 1 Math (Term 1) 1 pt

Read the questions and answer them carefully. Questions 1 to 12 carry 1 mark each.
Questions 13 and 14 carry 2 marks each.

Write in numeral.

seven

Question 2 of 18 Primary 1 Math (Term 1) 1 pt

Write the number in words.

2



Question 3 of 18 Primary 1 Math (Term 1) 1 pt

Complete the number bond below.

Question 4 of 18 Primary 1 Math (Term 1) 1 pt

There are 7 children at the playground altogether. 3 of them are boys and 4 of them are girls.
Choose the correct equation for this number story.

A) 3+3=6
B) 7+4=11
C) 7+3=10
D) 3+4=7

Question 5 of 18 Primary 1 Math (Term 1) 1 pt

1+9=



Question 6 of 18 Primary 1 Math (Term 1) 1 pt

=2+6

Question 7 of 18 Primary 1 Math (Term 1) 1 pt

Choose the set that has fewer ice creams.

 Set A (%) )
il |
| Set B |
A) SetA
B) SetB
Question 8 of 18 Primary 1 Math (Term 1) 1 pt

Fill in the missing number below.
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Question 9 of 18 Primary 1 Math (Term 1) 1 pt

Choose two numbers that will make 6 from the number cards below.

2 - 6 I 3 4 J 1

A)
B)
C)
D)
E)
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Question 10 of 18 Primary 1 Math (Term 1) 1 pt

Choose the correct equation to show the parts and whole for this picture.

A) 6+2=38
B) 6+3=9
C) 5+3=8
D) 4+6=10



Question 11 of 18 Primary 1 Math (Term 1) 1 pt

Choose the equation in the box that has the same answer as 5 + 5.

1+8} 2+5| |4+4]| |6+4

A) 1+8
B) 2+5
C) 4+4
D) 6+4

Question 12 of 18 Primary 1 Math (Term 1) 1 pt

What is the missing number?




Question 13 of 18 Primary 1 Math (Term 1) 2 pts

Choose the correct addition equation for the picture below.

4 N

A) 5+2=7
B) 4+1=5
C) 2+2=4
D) 3+3=6



Question 14 of 18 Primary 1 Math (Term 1) 2 pts

Fill in the missing numbers in the circles below.

10

A) Left =4, Right=2
B) Left=4, Right=1
C) Left=2, Right=4
D) Left=1,Right=5



Question 15 of 18 Primary 1 Math (Term 1) 1 pt

Read and solve the problems sums.

John bought 7 apples and 1 mango.
a) How many fruits did he buy altogether? Choose the correct equation.

wivlwlwlelwiwiy

A) 7+1=8
B) 7+2=9
C) 6+3=9
D) 5+1=6

Question 16 of 18 Primary 1 Math (Term 1) 1 pt

John bought 7 apples and 1 mango.
How many fruits did he buy altogether?

wiwlwlwielelely

b) He bought fruits altogether.

Question 17 of 18 Primary 1 Math (Term 1) 1 pt

Mrs Tan has 3 hats. Mrs Lee has 2 hats.
a) How many hats do they have altogether? Choose the correct equation.
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A) 3+3=6
B) 2+2=4
C) 3+2=5
D) 2+4=6



Question 18 of 18 Primary 1 Math (Term 1) 1 pt

Mrs Tan has 3 hats. Mrs Lee has 2 hats.
How many hats do they have altogether?

RRE

b) They have hats altogether.



